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Attempt all questions.

. Make sunitable assumptions wherever necessary.
Figures to the right indicate full marks.

. Each question carry equal marks (14 marks)

List out various keys on display board of total station you have used and give
their basic functions

dl aluzel 2led Raotoll Bud wR wlal Hadl Flo dlke slotdl

doll Guallol .

Give contour survey steps to be carried out in total station used by you.
dll cluRAL 2led Rl 532 U scll Hizell Watel cul.

Draw the neat figure showing elements of simple circular curve and derive the
equation for finding length of curve and length of long chord.

ALEL oousle asoll 2w sl €lRl dal asel doue el alol

5186l coueSell Yol cirdl.
Give the field procedure for setting out of curve by Rankine’s method.
208180l We(d Yool BesHl as A2 scllell Al cull.

OR
Calculate the ordinates at 10 m interval for a circular curve having a long
chord of 100 m and a versed sine of 4 m.

100 m Aol 51§ A 4 m dds WHel Ll d0oUSIR o8 HIE 10 m
Bo2cld ulsAe sl cllol sléell Ad Yo ulgAesdl oLl s,

The independent coordinates of two points “A” and ‘B’ are Point A = 130 N,
110 E , Point B = 220 N, 150 E. Calculate the length and bearing of line AB.

ol A el B R29lololl 2l 2lHL A=130N, 110E Wel B=220N, 150 E

8lat cl cllSat AB ofl colleS dat oldlot el
Explain the procedure for theodolite traversing using included angle method.
lalslelise MWl Hizell 8os¢fds Walctoll At unoel.

OR
The length and bearing of sides of closed traverse ABCDA are as given in
below table .Find out corrected consutive coordinates by transit rule.

Line Length(m) Bearing
AB 75.5 30° 24
BC 180.5 110° 36’
CD 60.25 210° 30°
DA 183.5 74° 05’
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Line Length(m) Bearing
AB 75.5 30° 24
BC 180.5 110° 36°
CD 60.25 210° 30°
DA 183.5 74° 05’

Explain repetition method of horizontal angle measurement by theodolite.

lalslcusedll &lRlBoect Wil Miuatlell l2eotell S unondl.

What is tacheometric surveying ? Give principle of tacheometer and enlist the
merits and demerits of tacheometric surveying.

SlAAls udSal ANed g 2 25lAAGls UdSoell Rreud el

Aol SLAEL Wl JRSLAEL Gl
Calculate the stadia constants using following data.

Instrament Staff station Distance Staff
Station between inst. and intercept(m)
staff station(m)
0 A 50 0.5
B 100 1.0
o{lAell 20ictoll Selell Guallol s31 R slau wuelisle(l a3l s3l.
Instrument Staff station Distance Staff
Station between inst. and intercept(m)
staff station(m)
o A 50 0.5
B 100 1.0
OR

Explain fixed hair and tangential method of tacheometry.
246l 8ls adSolell (3as 32 ual LeBRAA Ueuld AHomn .

Find the R.L of instrument axis if leveling staff held on B.M with angle of
elevation 3° and the staff readings are 2.64, 2.42 and 2.20 m. Take R.L of B.M
=100 m and stadia constants 100 and 0. Also calculate the horizontal distance
between instrument station and B.M.

ol daellol 2 B.M UR yslal 3° Acllduet well sl e lBa 28
3AsloL 2.64, 2.42 U 2.20 m Sl L WSl AUARLSL 100 U 0(Yol)
8lal dal B.M oll RL 100 m 8l R 8ldlgoecd 2claslusll RL (RL
of instrument axis) 2l cdAyMl Borgiloz st Ul BM Raust 2ol
S Boct Bicell otLcddl s,

Enlist the steps for preparing gale’s traverse table.
Sl glatdl A Gletlalall Hidell uolel cull.
Determine the elevation of the top of the tower using following trigonometric
observations. The tower and instruments are in same vertical plane. Take R.L

of BM =150 m.
| Instrument station |

Angle of elevation |
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B.M reading |
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2.85

25°
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275

18°

o{lAotl BoleHl wA EolAlRdls Aslowell Gualol 58l elare{l Gas
alltdl. 2lel? dal Botgiloe 5o ddlsel WolHl ®. BM RL = 150 m

cl.
Instrument station B.M reading Angle of elevation
P 2.85 25°
Q 2.75 18°
OR

Derive formula for trigonometric leveling when base of object is inaccessible
and both instrument axes are at same level in same vertical plane.

ZoloAgls Aaclol WE WA Boghoz Asx Aad &l el Asy
adlsel wWotHl slal el wleBseall da(ulal) s st ddl o sl
ol Mi2ell %33 Yol cltrdl.

Define: Latitade, Departure, Consecutive coordinates,
coordinates, Degree of curve, Point of tangency, total station.

vl AUl Adleys, Slulur, seayddla sl-ullSse, SoislUosce 5l-
Sz, Slofl wlls sc, WBoe s 20|, 2lecl R alol.
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